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QUESTION 1

Refer to the Exhibit. 

What will be created upon completion of the steps in this wizard? 

A. 100GB VMFS5 datastore with free space available for expansion 

B. 100GB VMFS5 datastore with free space available for a second datastore 

C. 100GB VMFS3 datastore 

D. 200.01 GB VMFS5 datastore 

Correct Answer: A 

Explanation: The datastore size selected is 100GB. On competition of this step, 100 GB VMFS datastore will be
created. 

 

QUESTION 2

When operating with Distributed Resource Scheduler (DRS) and Distributed Power Management (DPM), what two
statements explain the impact of disabling vSphere High Availability admission control? (Choose two.) 

A. DRS will evacuate virtual machines from hosts and places in maintenance or standby modes regardless of the impact
this might have on failover requirements. 
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B. Vmware DPM will place hosts in standby mode even if doing so violates failover requirements. 

C. DRS does not evacuate virtual machines from a host for the purpose of placing it in maintenance or standby modes if
placing the host in this state would violate failover requirements. 

D. VMware DPM does not place hosts in standby mode if doing so would violate failover requirements. 

Correct Answer: AB 

When you disable VMware HA strict admission control, virtual machines can be powered on even if there are not
sufficient resources to ensure failover capacity. When this is done, no warnings are presented, and the cluster does not
turn red. 

When strict admission control is disabled, VMware HA failover resource constraints are not passed on to DRS and
VMware DPM. Thus, the constraints are not enforced: 

1.

 DRS does evacuate virtual machines from hosts and place the hosts in maintenance mode or standby mode regardless
of the impact this might have on failover requirements. 

2.

 VMware DPM does power off hosts (place them in standby mode) even if doing so violates failover requirements. 

Reference https://kb.vmware.com/s/article/1007006?language=en_US 

 

QUESTION 3

An administrator is experiencing network connectivity issues between virtual machines. The virtual machines and hosts
are configured as follows: 

1.

 VM1 is running on Host1 

2.

 VM2 is running on Host2 

3.

 Both Host1 and Host2 are attached to the vSphere Distributed Switch dvSwitch1 

4.

 Both Host1 and Host2 are using vmnic0 and vmnic1 on dvSwitch1 

5.

 Both virtual machines are using the default portgroup for network traffic 

What are three settings the administrator should investigate while troubleshooting the connectivity issue? (Choose
three.) 
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A. VLANs of the physical NICs 

B. Failover order of the uplinks 

C. Virtual NIC connectivity to the dvSwitch 

D. Security policy of the portgroup 

E. Traffic shaping on the portgroup 

Correct Answer: ABC 

Explanation: Please find link to understand more about the connectivity issues https://kb.vmware.com/
selfservice/microsites/search.do?language=en_USandcmd=displayKCandexternalId=1003893 

 

QUESTION 4

An administrator wants to clone a virtual machine using the vSphere Client. Which explains why the Clone option is
missing? 

A. The vSphere Client is directly connected to the ESXi host. 

B. The virtual machine is configured with a thin-provisioned virtual disk. 

C. The virtual machine is configured with outdated Virtual Hardware. 

D. Cloning can only be performed with vRealize Orchestrator. 

Correct Answer: A 

Clone a Virtual Machine in the vSphere Client 

Cloning a virtual machine creates a duplicate of the virtual machine with the same configuration and installed software
as the original. Optionally, you can customize the guest operating system of the clone to change the virtual machine
name, network settings, and other properties. This prevents conflicts that can occur if a virtual machine and a clone with
identical guest operating system settings are deployed simultaneously. 

Prerequisites 

You must be connected to vCenter Server in order to clone a virtual machine. You cannot clone virtual machines if you
connect directly to an ESXi host. 

Reference: https://pubs.vmware.com/vsphere-50/index.jsp?topic=%2Fcom.vmware.vsphere.vm_admin.doc_50%
2FGUID-5C504B67-CDB3-42FC-8B3B-737201A725DD.html 

 

QUESTION 5

An administrator observes a warning on the vSphere Availability (HA) cluster. 

This host currently has no management network redundancy 

Which two actions would address the warning? (Choose two.) 
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A. Include the advanced HA parameter das.ignoreNetWarningRedundancy. 

B. Add an additional management vmknic to the vSwitch. 

C. Include the advanced HA parameter das.ignoreRedundantNetWarning. 

D. Add an additional uplink to the management vmknic. 

Correct Answer: CD 

2V0-621 PDF Dumps 2V0-621 VCE Dumps 2V0-621 Braindumps

Powered by TCPDF (www.tcpdf.org)

2V0-621 PDF Dumps | 2V0-621 VCE Dumps | 2V0-621 Braindumps                                5 / 5

https://www.geekcert.com/2v0-621.html
https://www.geekcert.com/2v0-621.html
https://www.geekcert.com/2v0-621.html
http://www.tcpdf.org
https://www.geekcert.com/2v0-621.html
https://www.geekcert.com/2v0-621.html
https://www.geekcert.com/2v0-621.html

